
Task: BIU
Offices
Stage I. Day 1. Source filebiu.* 2006.10.23

Available memory: 64 MB.

Bytel is a mobile telephony potentate. Each employee has been issued a company phone, the memory of
which holds the numbers of some of his co-workers (all of themhave his number in their phones as well).
Due to dynamic growth of their operations the board of directors intends to move company headquaters to
new office buildings. It has been decided - in order to boost work efficiency - that every pair of employees
working in different buildings should know (reciprocally)each others phone number i.e. the memory of their
company phone ought to hold necessary phone numbers.

Simultaneously, the board have decided to rent as many officebuildings as possible to ensure good work-
ing conditions. Help the board of Bytel to plan the number of office buildings and their size in accordance
with the aforementioned requirements.

Task

Write a programme which:
• reads the description of employees’ phone number lists fromthe standard input

• calculates the maximal number of office buildings and their sizes, satisfying board’s conditions

• writes the outcome to the standard output.

Input

The first line of the standard input consists of two integers:n andm (2≤ n ≤ 100000, 1≤ m ≤ 2000000),
separated by single spaces, denoting the number of Bytel employees and the number of pairs of employees
who have their numbers in company phones, respectively. Theemployees are numbered from 1 ton.

Each of the followingm lines contains a single pair of integersai i bi (1≤ ai < bi ≤ n for 1 ≤ i ≤ m),
separated by a single space, denoting that employeesai andbi have their numbers (reciprocally) in company
phones’ memory. Each pair of integers denoting a pair of employees shall occur once at the most in the
standard input.

Output

The first line of the standard output should contain a single integer: the maximal number of office buildings
that Bytel should rent. The second should contain a non-decreasing sequence of positive integers, separated
by singe spaces, denoting the sizes of the office buildings (i.e. the numbers of employees working there).
Should there exist more than one correct answer — write out any one of them.
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Example

For the input data:
7 16
1 3
1 4
1 5
2 3
3 4
4 5
4 7
4 6
5 6
6 7
2 4
2 7
2 5
3 5
3 7
1 7

the correct result is:
3
1 2 4

An exemplary correct distribution of employees in the officebuildings: employee number 4 in the first office,
numbers 5 and 7 in the second office, numbers 1, 2, 3, 6 in the third office building.

v. 1.02 2/2 Offices


